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QID : 1 - In the following question, select the related word from the given alternatives.
Hockey : Stick : : Cricket : ?

Frafofir sox 7 Ry o Rreest & 9 =it orer 1 3T
glft:Rew:: fpe 2 2

Options:

1) Bat

T

2) Stadium

Lo ud

3) Pitch

A=

4) Batsman

T

Correct Answer: Bat
HEET

Candidate Answer: Bat
TEE

QID : 2 - In the following question, select the related letters from the givu}ﬁé’nm
CRAP:IMGK : :DINA : ?

Frafefr mr & fr o freedt # & wEfte st £ 5fm

CRAP:IMGK : : DINA : ?

Options:

1) KCUU

2) IDTV

3) XDTU

4) ICV
Correct Answer: JDTV
Candidate Answer: JDTV

QID : 3 - In the following question, select the related number from the given alternatives.
13:91::7:7

et sor # B o Rreedt # 7 wifire e w1 3

13:91::7:7

Options:

1)27

2)32

3)49

4)52
Cormrect Answer: 49



QID : 4 - In the following question, select the odd word from the given alternatives.

fraferfer = 5 B R & & B srer w5 gREm
Options:

1) Cube

=T

2) Square

=t

3) Circle

il

4) Rectangle

AT

Correct Answer: Cube
=

Candidate Answer: Cube
=T

QID : 5 - In the following question, select the odd letters from the given alternatives.

et w5 B o Breeeai § & Broeg st s gFm
Options:

1) CIQX

2) DKRY

3) ELSW

4) BIPW

Correct Answer: ELSW

Candidate Answer: CIQX

QID : 6 - In the following question, select the odd number pair from the given alternatives.

e e F B o Breeat & & Brorg s gea s g
Options:

1)42 -84

2)13-25

3)17-34

4) 24 — 48

Correct Answer: 13 - 25

Candidate Answer: 13 - 25

QID : 7 - In the following question, select the odd number pair fre™ th- ai en alternatives.

Frafafer wr F B Preeat & & RBres st gea w5 g
Options:

1) 123 -231

2) 352 - 523

3) 461 - 614

4)478 - 874

Correct Answer: 478 — 874

Candidate Answer: 123 - 231

QID : 8-
How many triangles - e there in the given figure?

& g dpfa #F e Begw 2

Options:
1)4

2)6
3)5

47



Correct Answer: 4
Candidate Answer: 4

QID:9-
How many rectangles are there in the given figure?

& I8 It H fraer I 0

Options:

1) 13

2) 15

3) 17

4) 19

Correct Answer: 17
Candidate Answer: 13

QID : 10 -
Three positions of a cube are shown below. What
will come opposite to face containing ‘@’?

& T e @ e araEu i TR ¥ '@
TeF eler o TaOLE FOT HREET?

+ @ +
@ |% |aw!i

Options:
1) #

2) +
3) s

4) %
Correct Answer: #
Candidate Answer: #



QID : 11 -
Which of the following cube in the answer figure
CANNOT be made from unfolded cube in the
guestion figure?

FreafofRa sax sl & 3 *fa a7 a7 o oo
U MG # T G O § ol Fona S #@har?

L

of [=]

Options:
1)

2)

3)

)

Candidate Answer:
o)




QID :12-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

g I IEY Wipfaal # W 3§ IEY Hgia o gaw
o # ua argfa e &

2

Options:
1)

2)

3)

4)

Z | [NN| A [N

Cormrect Answer:

N

Candidate Answer:

(N




QID : 13-
Which answer figure will complete the pattern in the
question figure?

Tl W 39T Efa U IEla & ufoRew & 9T

Greiid
|
7
1
il)ptions:
b
11
2)

4)

[ %

\

Cormrect Answer:

|

Candidate Answer:

o




QID : 14 -
If a mirror is placed on the line AB, then which of the
answer figures is the right mirror image of the given
figure?

ofe, wer guoT wt AB I@T UT T@r S, &t & T
Y WAl # ¥ Fig W gy uH HEa &
wér guur ufafesa gwfre

FREAKING46

A B

Options:
1)

BkOMINATAR

2)

EKEYIIUCHa

3)

EKEYKIUGHR

4)

EKEYIKMGHR

Correct Answer:

EHEYKIUGHR

Candidate Answer:

gkaMINAIA]




QID :15-
In the following gquestion, select the number which
can be placed at the sign of question mark (7) from
the given alternatives.

fraefae v 7 ffr o faoent & & uwr g
(?) & FUH W A arelr FEA G

2 8 7
[3[34] 4] [4]ar]5] [e]?]3]
7 1 5
Options:
1)51
2)57
3) 53
4) 59

Cormrect Answer: 57
Candidate Answer: 57

QID : 16 - From the given alternatives, select the word which CANNOT be formed using the letters a "t & given word.
PRINTINGS
et et 7 # =g wror R A Bo T s e T ST o AL A @ s

PRINTINGS
Options:
1) SAINT
2) PRINT
3) STING
4) RINGS

Correct Answer: SAINT
Candidate Answer: SAINT

QID : 17 - Identify the diagram that best represents "‘e_'-‘atjl;ship among the given classes.
Brain, Lungs, Body

=g A JiA A A= B e & v o o e s 3

ufaes, ¥EE, ot



Options:
1)

®

2

3

lala

4

c

Cormrect Answer:

Candidate Answer:

QID : 18 -
In the given figure, how many triangles age large but
not equilateral?

& o sl A e Ty @ ¥ wg vy
e Ee

Triangle / Equilateral /




Options:
1)17

2) 19
3)18

4)15
Cormrect Answer: 19
Candidate Answer: 19

QID : 19 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclusions and then decide which of the given conclusion logically follows the given statements,

Statements:
1. All pages are red.
II. Some pages are solid,

Conclusions:
I. Some solid are red.
II. All red are pages.

Ay foer e s 5 o e e o A e et e v g P fe o 1 e o et o oy Y, v e ey s 1 e o et Bt o s fe
frerifer =+ fir o o w9 Freed, o et o e o iR #

G
L adi g wrrer #)
II. 5= o= &

Aot

L @ Frr wer #)

IL, #rfr =er 7% )

Options:

1) Only conclusion (I) follows.

e Fremt (1) wndft 81

2) Only conclusion (IT) follows.

e Pt (I1) =t 31

3) Both conclusion follow.

=t ot Pt et #1

4) Neither conclusion (1) nor conclusion (I1) follows.
= A et (1) = ot Freed (11) =it &

Correct Answer: Only conclusion (I) follows.
=T et (1) =t

Candidate Answer: Both conclusion follow.

N

QID : 20 - In the following question below are g'ven ' omc statements followed by some conclusions, Taking the given statements to be true even if they seem to
be at variance from commaonly known facts. R@ a.. "~ conclusions and then decide which of the given conclusion logically follows the given statements,

Statements:
L. All black are walls.
11. Al colours are walls.

Conclusions:

1. Some colours are black.
I1. All walls are black.

1. All black are colours.

A Fam ey % g T A I AT I FAAT T vt g Pt G ) fao gt 51wl v, e I ey s e & b
Fratfeer w i e o ey o ot R wro waeit ¥ smerre e i §)

T
L 7t =t e )
IL. et 17 Fs 31

o

L Fm AT #

I1. =it S wreft 3
IIL, = =Frer 7o )



Options:

1) Only conclusion (I} follows.

=T Pt (1) =@ &

2) Only conclusion (II) follows.

=T Py (1) =i 3

3) Only conclusion (III) follows.

e e (111) vt &

4) Neither conclusion follows.

TE e e A

Correct Answer: Neither conclusion follows.
w1 P wfT A

Candidate Answer: Only conclusion (III) follows.
ey P (101) =t 0

QID : 21 - Neha is the sister of Rohit and mother of Rahul. Rahul is the brother of Sohit. How is Neha related to Sohit?

T, T o g F mar Trger 7 " F) Trger, A W avs ) qgn, At 7 e awre det 37
Options:
1) Sister

e

2) Mother
AT

3) Daughter

4) Wife
o=

Correct Answer: Mother
HTET

Candidate Answer: Mother
AT

QID : 22 - Pointing towards a man, a woman said, "He is the father of my son's sister’s dawate. “ow is that man related to the woman?

e e Y T FE A g, W Wi 7wy, Uy we O o wge o O wy om0 mw aen o e I e o e 37
Options:

1) Son-in-law

AT

2) Son

™
3) Husband
affr

4). Brother
s

Correct Answer: Son-in-law
=TT

Candidate Answer: Son-in-law
=_THT

QID : 23 - The ratio of the present are= « "% o girls is 4 : 5. After 2 years, their ages will be in ratio 5 : 6. What will be the ratio of their ages after 14 years?

=T erE Tt T AT AT AT AR 4T 7 2 W AT I AT 5 ¢ 6 S W AT 14 = T I ST a5 AT b g
Options:

1)11: 12

2)17: 18

3)31:33

4)11:19

Correct Answer: 11 : 12

Candidate Answer: 11 12

QID : 24 - Selling price of an article is Rs 910. If the profit earned is 40%, then what is the cost price (in Rs) of the article?
T = T e e 910 v f At A =y o 40% g, A = w0 5o (7 H) = 8?

Options:

1) 720

2) 680

3) 780

4) 650
Correct Answer: 650



Candidate Answer: 650

QID : 25 - In the given question, there are four figures given out of which three are similar in some manner and one is not like the others. Select the figure which is
odd one out.

TR iy s , =T At € g e 7 e Fdr v e v ow A o v wEe fae g fre st gim

(:;Jliuns:
O
O

2)

[l
L]

3)

P
A

4)

A
™

Cormrect Answer:

>

Candidate Answer:

>

QID : 26 - In the given question, there are four “aui-s g. =n out of which three are similar in some manner and one is not like the others. Select the figure which is
odd one out.

T iy s W, =T AT € g T A A TR T AT AT O WA g A v A fae i fre st gim



Options:
1)

2)

3)

4

g

Cormrect Answer:

I

Candidate Answer:

il

QID : 27 - In the given question, there are four figures given outof s hirn t

odd one out.

ee are similar in some manner and one is not like the others. Select the figure which is

B wer W, = avgptaEt g F G 7 7 Gl o o w @ - o mr § A o w310 S anptEr w1 3R

Options:
1)

2)

3)

4

|G (]




Correct Answer:

O

il B

<

Candidate Answer:

[= B

LT

<

QID : 28 - In the following question, select the missing number from the given series.
16, 18, 21, 23, 26, ?

Frafrfir sr & B o e ® % o 9w w Frtem

16, 18, 21,23, 26, ?

Options:

1) 29

2) 30

3)28

4)33
Correct Answer: 28
Candidate Answer: 28

QID : 29 - In the following question, select the missing number from the given series.
51,55,71,107,171,?

Frafofir wr % for my Preedt § & o 9% v i

51,55,71,107,171,?

Options:

1)231

2)271

3) 259

4)313
Correct Answer: 271
Candidate Answer: 271

QID : 30 -
In the following question select the figure which can
be placed at the ¢'an oi guestion mark (?) from the
given alternatives.

ratiea wa 3 fn ow Reeat # @ uw RE
(?) & T UT A AT HF B IATI

S i= | =
ma] mi | n o] =i | 2?




Options:
1)

mon

2)

m | mji 1]

3)

COmo

4)

Ooom

Cormrect Answer:

Ooom

Candidate Answer:

mono

QID:31- . Far ;
In the following question, select the f gure which can
be placed at the sign of question n'2-% (?) from the
given alternatives.

Faefts ug 3 BT o~ Boear 3 @ oy BE
(7) & FAH G 30 ar€ AP Sl AT

X X+ X +% X+%A




Options:
1)

X% A+

2)

X A%+

3)

X+%

4)

X+%A

Cormrect Answer:

X+%A
Candidate Answer:

A
X +%

QID:32-
In the following question, select the 'gure which can
be placed at the sign of question «*2 X (?) from the
given alternatives.

Faelag oy 3 By o- Brear 7 @ uy
(?) & FUH W FA are Hpld B |

o

~
Omn =
i

O # ® #F O # 73

b




Options:
1)

n

2)

0

3)

1

4)

O # F
q
s 0O

Correct Answer:
@ & F
q
s 0O

Candidate Answer:
® # 1
9
50 e =

QID : 33 - In a certain code language, "FLAME" is written as  §9421" and "MOCT" is written as "3872". How is "FACT" written in that code language?

w fafire Fr= 9T #, "ALAME" ¥7 "69431" T4T "MOCT " ¥ " {872" feran WrAw 1 T FrE AwvAy F "FACT" ¥ www forr wmame

Options:
1) 6472

2) 6147
3) 2476

4) 8743
Correct Answer: 6472
Candidate Answer: 6472

QID : 34 - In a certain code language, "RUME" is written as "43" and "TRAP" is written as "53". How is "RIMP" written in that code language?

e fAfer 2 9 #, "FUME” %7 "43" 7o "TRAP” %7 "53" forar e 1 77 %7z arar & "RIMP” =1 ey were forar wmom?
Options:

4) 56
Correct Answer: 54
Candidate Answer: 54

QID : 35 - In a certain code language, "WINDSHIELD" is written as "CKDHGRCMHV". How is "FRONTBACK" written in that code language?

e fAfirr = @, "WINDSHIELD" =7 "CKDHGRCMHV" ferar T &1 zor %= A § "FRONTBACK" 1 Frer srre forar wroam?



Options:

1) [AYZRLMPD

2) IDZVSOPQG

3) JBZASMNQE

4) LDBCUOPSG

Correct Answer: JBZASMNQE

Candidate Answer: LDBCUOPSG

QID : 36 - Which of the following is known as plastic money?

AW 7 EIE AT TR AT F T H ATAT AT 37
Options:

1) Fixed Deposit

aratetEaT (Frrre i)

2) Credit Cards

Wz

3) Bearer cheques

et oo

4) Demand Drafts

T e

Correct Answer: Credit Cards
T ETE

Candidate Answer: Credit Cards
Earciard

QID : 37 - What do we deduct from the Gross National Product to get the Net National Product?

9 T 3T A S F [ g e T SR A T e 87
Options:

1) Loss or Depreciation

A T g

2) Imports

AT

3) Interim Payments

FATH PrEH

4) Direct Taxes

T T

Correct Answer: Loss or Depreciation
e = g

Candidate Answer: Direct Taxes
T FT

QID : 38 - Who was the first chairman of the Planning Commission?

STSAT AT T AT F I 47
Options:
1) Dr. Rajendra Prasad
=, THE TT
2) Dr. 5 Radhakrishnan
=, T T
3) Jawaharlal Nehru
e i
4) M. Vishveshwaraya
Correct Answer: Jawaharlal Nehru
FEATET AT AR
Candidate Answer: Dr. Rajendra Prasad
=, TTHE T

QID : 39 - Which of the following deals with economic offences?

Fraferfara % 7 e A i AT 7 =T w27
Options:

1) POTA

T

2) TADA

T

3) MISA

Hrer

4) COFEPOSA

TR



Correct Answer: COFEPOSA
FTETMAT

Candidate Answer: POTA
aTeT

QID : 40 - Which country is following one party system?

I AT 9T W T ST T AT T 7g 87
Options:

1) Chile

et

2) China

|

3) Russia

21

) Spain

%

Correct Answer: China

|

Candidate Answer: Spain

E

QID : 41 - The essential feature of democracy is giving prominence to the

ElEEER AR Eaa R e e = | T AT A F)
Options:

1) Citizen

AT

2) Civil Organisation

At T

3) Judiciary

=TT

4) Executives

FEFT AfET

Correct Answer: Citizen

Candidate Answer: Executives

QID : 42 - How many types of emergencies are envisaged by

T 2T e T F e i whewern £ g7

Options:
1)1

2)2
3)3

4)4
Cormrect Answer: 3
Candidate Answer: 2

QID : 43 - Under which article of the Indian Constitution can the Central Government direct the State Governments?

AT AR F F asEE § SAe F7 A e Ao 6 AR e g ?
Options:

1) Article 256

=T 256

2) Article 263

F=E 263

3) Article 356

a=a= 356

4) Article 370

== 370

Correct Answer: Article 256
=T 256

Candidate Answer: Article 263
=9 263



QID : 44 - Who was the Indian ruler who had territory outside India?

BT AT o FT T e AR i avg ar?

Options:

1) Chandragupta Maurya

=EE W

2) Kanishka

e

3) Chandragupta Maurya and Kanishka both
=AW T F A T

4) No option is correct

1% e wft 7 &

Correct Answer: Chandragupta Maurya and Kanishka both

= W A w2

Candidate Answer: Chandragupta Maurya

A AT

QID : 45 - Which one of the following dynasties was founded by Bimbisara?
ferferame Frrmferfam Troreoft & & R wearas 47

Options:

1) Nanda

=
2) Maurya
e

3) Haryanka

T

4) Gupta

T

Correct Answer: Haryanka
E5a

Candidate Answer: Nanda
=

QID : 46 - What was the another name of Quit India Movement?

ATTA BIET AT F ZAT ATH 547 12
Options:

1) August Kranti

ST T

2) Non-cooperation

et

3) Civil Disobidience

AT

4) No option is correct

F1E o ot A

Correct Answer: August Kranti

Eliab s

Candidate Answer: Non-cooperation

s

QID : 47 - In which session Conase: s Party was split?

39T ¥ ST AT F7 AT g ar?
Options:
1) Surat, 1906

779, 1906
2) Lahore, 1909

e, 1909

3) Madras, 1908

=14, 1908

4) No option is correct

w1t e 7t A

Correct Answer: Surat, 1906
e, 1906

Candidate Answer: Surat, 1906
74, 1906

QID : 48 - Where is the Salar Jung Museum situated?



Options:

1) Patna
T=A T

2) Hyderabad

3) Lucknow

fgie o e

4) Mumbai

g

Correct Answer: Hyderabad
T

Candidate Answer: Lucknow
TS

QID : 49 - Where did the development of miniature paintings of Indian heritage NOT happen at the followings?

At Frorer ¥ o B w7 Py = & w2t el g ar?
Options:

1) Mewar

e

2) Junagarh

AT

3) Kishangarh

T

4) Bundi

=

Correct Answer: Kishangarh
T

Candidate Answer: Kishangarh
e

QID : 50 - In which state is located the Lipulekh Pass?

frper =27 FFm e § R
Options:
1) Sikkim

fafm

2) Uttarakhand
=aET

3) Himachal Pradesh
T T

4) Jammu and Kashmir

TR AT FHT

Correct Answer: Uttarakhand
=HEE

Candidate Answer: Sikkim
IER

QID : 51 - Which one of the followin® is.e= - a salt water lake?

Frarfortr ofier & g A AP O - A
Options:
1) Wular

e

2) Sambhar

T

3) Dal

T

4) Govind Sagar

i T

Correct Answer: Sambhar
AT

Candidate Answer: Wular

A7

QID : 52 - Which of the following place in Jammu and Kashmir is known for 'saffron cultivation'?

v st Fodie # S SR F Rro Pefefe § & s e e R 3



Options:
1) Pampore
o

2) Kashmir
ForT

3) Jammu

Gl
4) Ladakh

T

Correct Answer: Pampore
Ty

Candidate Answer: Jammu

ik §

QID : 53 - Which of the following region receives rainfall by Western Disturbances?

5 ¥ % 1 AT g bt sy A w37
Options:

1) Kerala

T

2) Tamil Nadu

AHAAET

3) Punjab

qATEH

4) Kamataka

FAIET

Correct Answer: Punjab

EEIE]

Candidate Answer: Tamil Nadu
ArHeTY

3

QID : 54 - Which one of the following minerals has another name called 'brown diamond'® |

e =T § % P e A e 3 N
Options:

1) Mica

T

2) Iron

g

3) Manganese

4) Lignite
framz=z
Correct Answer: Lignite

-]

Candidate Answer: Mica
EEEd

QID : 55 - Which of the following pa*t c: [ ~4 a receives the first monsoon in summer?

AR & Fmtates § 7 59 N age s O = e
Options:
1) Himalayas

2) Meghalaya Plateau

AT AT

3) Western Ghats

aferet =

4) Eastern Ghats

T ==

Correct Answer: Western Ghats
aftrdt =me

Candidate Answer: Himalayas

e

QID : 56 - The spherical shape of rain drops is due to
anfeor £ g2 MEmETe __ FH T AAg W)



Options:
1) Viscosity
Rt

2) Elasticity

A/

3) Friction

THETH

4) Surface tension

T8 AT

Correct Answer: Surface tension
T T

Candidate Answer: Surface tension
I8 79T

QID : 57 - Which of the following is NOT one of the fundamental quantities in physics?

AR 9 F A AT W o S e T 22
Options:

1) Time

T

2) Length

e

3) Weight

AT

4) Mass

e

Correct Answer: Weight
AT

Candidate Answer: Weight
AT

QID : 58 - Which of the following produces more severe burns?

e & 31 F AT At wee e T
Options:

1) Boiling Water

TEAT T

2) Steam

AT

3) Hot air

T g

4) Sun rays

= o B

Cormrect Answer: Steam
ATT

Candidate Answer: Hot air

™ AT
QID : 59 - Which of the following co~pe.. *u 5 responsible for the formation of kidney stones?

et = (T A Terd) g e o e F A R e e
Options:
1) Sodium Chloride
FATTE
2) Silicates
e

3) Calcium oxalate

4) Calcium bicarbonate

R ArEFTETIE

Correct Answer: Calcium oxalate

Candidate Answer: Calcium bicarbonate
R ArEFTETIE

QID : 60 - Which among the following kinds of lenses are used to treat Astigmatism?

aiftifeew 1 S we ¥ o Prafeie § & fe o & & 1 g fmr s 32



Options:

1) Concave Lens

I T

2) Convex Lens

= HT

3) Bifocal Lens

4) Cylinderical

et

Correct Answer: Cylinderical

Rt

Candidate Answer: Concave Lens

QID : 61 - Which is the most abundant inert gas in the atmosphere of earth?

it F AreEer ¥ e w7 WA W A i s 32
Options:
1) Helium

2) Neon
Frat=

3) Argon
4) Xenon
it

Correct Answer: Argon
anr

Candidate Answer: Helium

Fifery

QID : 62 - The most malleable metal is _

Correct Answer: gold
AT

Candidate Answer: platinum
At

QID : 63 - Which of the following ga~es .. vsed in manufacturing of vanaspati ghee from vegetable ocil?

Frafafir & Fr i 7 90 ame S e & Aty o F fmi § e wEr
Options:

1) Hydrogen

2) ﬁdium

3) Oxygen

AT

4) Nitrogen
AT

Correct Answer: Hydrogen

REEE

Candidate Answer: Helium

ey

QID : 64 - Which Layer of the atmosphere also called the Ozonosphere?

A= fT AT T A e { e 37



Options:

1) Exosphere
TR T

2) Stratosphere

33 Troposphere
el T

4) Mesosphere
wHEEEET
Correct Answer: Stratosphere

Candidate Answer: Stratosphere

QID : 65 - Which of the following is responsible for turning yellow Taj Mahal?

FrAAZer F e I F oy e o F w1 Gee 2
Options:

1) Potassium

arEfirEe

2) Carbon Dioxide

FTAA TTTATFATEE

3) Sulphur Dioxide

TEET ETSAEE

4) No option is correct

1 P il A §

Correct Answer: Sulphur Dioxide
FEFT TTEATRIEE

Candidate Answer: No option is correct

1% e ot 7 &

QID : 66 - Mission Indradhanush is related with

Toror S A __wETEA
Options:

1) Children Safety

g ¥ TqEar

2) Children Vaccination

agi & e

3) Ecommerce

T

4) Rice Export

e e

Correct Answer: Children Vaccination
gt F FwrEew

Candidate Answer: Children Vaccination

gt & FrwrEr
QID : 67 - Which state government -as . :» "ed Rani Laxmi Bai Pension scheme?

Tt et ATE S A G e 0 o = R
Options:

1) Madhya Pradesh

T T

2) Delhi

fEreeft

3) Punjab

qATT

4) Uttar Pradesh

=T T

Correct Answer: Uttar Pradesh
FHT T

Candidate Answer: Uttar Pradesh
=T T

QID : 68 - What is the name of indigenous subsonic cruise missile test fired recently by India?
AT T e g W wirer Ry w weeft weite g e s e A e



Options:
1) Trishul
Frorer

2) Naag
AT

3) Nirbhay
A

4) Kaal

FTeT

Correct Answer: Nirbhay
[EEE

Candidate Answer: Nirbhay
[ELEs

QID : 69 - Which of the following African countries has launched a earth observation satellite in October 20177

Frafatir awfrfr 2o % 7 B T 2017 F 9 wiswmae A Aty e
Options:
1) Morocco

HTET
2) Egypt
o

3) Ethiopia

AT

4) Sudan

T

Cormrect Answer: Morocco
R

Candidate Answer: Ethiopia
T

QID : 70 - India beat Malaysia recently, in which of the following cup to clinch its third titl="

T ET H AR 7 Ay e Rrave e ¥ o wafie 5 et § 9 o § g
Options:

1) Under-17 FIFA Cup

=7 -17 FIE T

2) Asia Cup

it

3) World Cup

lEickat

4) Sudiraman Cup

TETHA T

Correct Answer: Asia Cup

ST T

Candidate Answer: Under-17 FIFA Cup

=T -17 Frer 77 L

QID : 71 - Which of the following be~am- % .tIndian woman to tie up with the World Wrestling Entertainment (WWE)?

Frafaf & & £ 70 Wi vy - feeggerds) T {EA ATeT AEET wige w1 g f?
Options:

1) M C Mary Kom

T AT W

2) Babita Phogat

AT T

3) Kavita Devi

wfaET 2

4) No option is correct

7 P T A T

Correct Answer: Kavita Devi
wfaET 2=t

Candidate Answer: M C Mary Kom
e # T

QID : 72 - Guangzhou is the Chinese name of which city?

TETE T g S e AT R



Options:
1) Beijing
EuEs

2) Canton
¥
3) Sichuan

4) Manchuria

wfear

Correct Answer: Canton
¥

Candidate Answer: Beijing
ElEL

QID : 73 - The only one of these neighbors of India that does not use the rupee as currency is _

ATTR ¥ T TETRET H A e U f R £ W T I 6 e &

Options:
1) Pakistan
arfErEaT

2) Sri Lanka

i

3) Nepal

AATEr

4) Bangladesh

v

Correct Answer: Bangladesh
AT

Candidate Answer: Pakistan
Ui

QID : 74 - Who has won the 2017 Nobel Prize for Economics?

arqurr ¥ oy 2017 Aveer qreTe Feem S 27
Options:
1) Raghuram Rajan
T TTAA
2) Richard Thaler
fr=e e
3) Jagdish Bhagwati
T 7
4) Amartya Sen
Lt
Correct Answer: Richard Thaler
fr=# e
Candidate Answer: Amartya Sen
Eekiny

QID : 75 - Who has become the first Tna -~ "o be honoured with Anna Politkovaskaya Award 20177

T T T TOeRTT 2017 & o1 T GO ATET T ST FA 7 T g2
Options:

1) Sanjay Pathak

FAT qEF

2) MM Kalburgi

TROH

3) Sudarshan Patnayak

=T T

4) Gauri Lankesh

T FiEer

Correct Answer: Gauri Lankesh
Tt wier

Candidate Answer: Sanjay Pathak
gekicad

QID : 76 - Which state govt has reduced interest on loan under Saksham Yojana in October 20177

T3 T wRT A AwzaT 2017 § wW S F qge S T AT 9 7 A 37



Options:

1) Uttar Pradesh
THT TET

2) Chhattisgarh
it

3) Madhya Pradesh

e TET

4) Maharashtra

HETE

Correct Answer: Chhattisgarh
g

Candidate Answer: Uttar Pradesh
T AT

QID : 77 - The Union Govt has approved the continuation of which centrally sponsored scheme for states in November 20177

o AT A A 2017 W et F v Fe wrter B S A raa w et T f 3
Options:

1) Gramin Bhandarn Yojna

e T AT

2) Janani Suraksha Yojna

FAAAT AT AT

3) Antyodaya Ann Yojna

ST I ATAAT

4) Rashtriya Krishi Vikas Yojana

TE T T T

Correct Answer: Rashtriya Krishi Vikas Yojana
i i P S

Candidate Answer: Janani Suraksha Yojna
T FTEAT AR

QID : 78 - India has sent its first shipment of wheat to which of the following countries th-zwah . an's Chabahar Port in October 20177

T 2017 ¥ AT 7 IR F AR Ag F AveArw 7 Frmfertey # 7 few dor v g v oo vo@m S{ 32
Options:

1) Afghanistan
FEATAEAT

2) Turkemenistan

3) Iraq

T

4) Uzbekistan
TEATA

Correct Answer: Afghanistan
FEATAEET

Candidate Answer: Uzbekistan
TR

QID : 79 - India is going to jointly we=x ¢ = nulti-radio telescope project with which country?

ST HYR = U WA TEr T e  RefraAr o e or Ay wrw v g 37
Options:

1) Japan

ki

2) China

=T

3) Iran

=

4) South Africa

=fer

Correct Answer: South Africa
=faror skt

Candidate Answer: Japan
AT

QID : 80 - Recently, the world's smallest squirrel was found in which of the following countries?

arer &t #, g ¥ e wrd Frergdt Frafodie & # e 2o 8 arg w2



Options:

1) India
=

2) Singapore

3) Indonesia

4) Japan

AT

Correct Answer: Indonesia
T

Candidate Answer: India
R

QID : 81 - Which of the following states became first state to launch electric bus service?

T % =1 A7 PR =9 AT o7 S AT GO T A e
Options:

1) Himachal Pradesh

raT=er w=r

2) Kerala

w7

3) Assam

o

4) Jammu & Kashmir

AR AT FHT

Correct Answer: Himachal Pradesh
raT=er S=r

Candidate Answer: Kerala

T

QID : 82 - Who has been appointed as the new governor of Bihar?

g ¥ A AT F A a7 fE P e e
Options:

1) Keshari Nath Tripathi
ForT AT B

2) Satyapal Malik

FEATE Wi

3) Jagdish Mukhi

wRTET et

4) Ram Naik

T ATTE

Correct Answer: Satyapal Malik
T Wi

Candidate Answer: Ram Naik
TH AEE

QID : 83 - Jagmeet Singh has been ~'s..ed © = first non-white president of the New Democratic Party (NDP). NDP is a major political party of which country?

wRTd g =7 Tt O (T o i - A g T U g A U T A mwwg?

Options:

1) Canada

FATET

2) United States of America

3) Brazil

arferer

4) Scotland
S

Correct Answer: Canada

FATET

Candidate Answer: Scotland
e

QID : 84 - India's first Pradhan Mantri Kaushal Kendra for Skilling in Smart Cities was inaugurated in which city?

FETE 9T W F T AT F R AR F ager waTH S rerer $7 w7 5@ (e oge W i = ar?



Options:
1) Mumbai

2) Kolkata
FIETETAT
3) Hyderabad

4) New Delhi

7Z fwedr

Correct Answer: New Delhi

7% freett

Candidate Answer: Hyderabad

T

QID : 85 - In September 2017, United sates of America President has issued a new travel ban on eight countries. Which of the following countries is not in that list?

e 2017 W, A= 7T AHTCET F TR 7 4TS ToW 07 0 7Z raAv whoreer Wit frw 3 P § # w1 A For 9w = A 32
Options:

1) North Korea

=T T

2) Iran

-

3) Syria

#ifear

4) Sudan

3

Correct Answer: Sudan

E

Candidate Answer: Sudan

E

QID : 86 -
)

What is the value of (Z) ; ><’ 5} ?
\5 \ 7

ral

1 1

[T_Tz x{ﬁ)g T HIT T &7

Options:

1) 57

2)7/5

3) 49/25

4) 25/49

Correct Answer: 5/7
Candidate Answer: 25/49

QID : 87 - How many prime numB&iE are there from 1 to 30?

19 30 =% frett sraTes A 37
Options:

1)8

2)9

3) 10

411

Cormrect Answer: 10
Candidate Answer: 10

QID : 88 - If 2/3 of 4/5 of 6/5 of a number is equal to 240, then what is the value of the number?

o T T F 6/S T 4/5 ¥ 2/3, 240 F TVAL F, AT FEAT AR T E?

Options:
1) 125
2) 250
3) 375
4) 450



Cormrect Answer: 375
Candidate Answer: 375

QID : 89 - What is the largest three digit number which is exactly divisible by 3, 4 and 5?

3, 4 a1 5 F e Rrarfer g aveht A s £ wee ot den =g
Options:

1) 910

2) 900

3) 960

4) 990

Correct Answer: 960
Candidate Answer: 960

QID : 90 - What is the value of 1.44 x 0.02 + 2.2 x 0.01?

144 % 0.02 + 2.2 x 0.01 #7 WA FT?
Options:

1) 0.0508

2) 0.0502

3) 0.508

4) 0.502

Correct Answer: 0.0508
Candidate Answer: 0.0508

QID : 91 - What is the value of 25% of 40% of 3/7 of 35007

3500 ¥ 3/7 ¥ 40% ¥ 25% T WA 4T 77

Options:
1) 750

Cormrect Answer: 150
Candidate Answer: 150

QID :92-Ifx:y=2:3andz:w =>5x: 7y, then whatis the value of xz jw?

AEx:y=2:3FWz:w="5x:TyFATxz: yw FT AAFATE?

Options:
1)10: 21

3)4:9

4)20: 63

Correct Answer: 20 : 63
Candidate Answer: 10 : 21

QID : 93 - Average of 19, 63, 51, 78, 47and A . 19. What is the value of A?

19, 63, 51, 78, 47 AT A FT s 49 71 4 FT W T 7
Options:

1) 29

2)32

3) 36

4) 39

Correct Answer: 36

Candidate Answer: 32

QID : 94 - Simple and compound interest on a principal at a certain rate of interest for 2 years is Rs 1400 and Rs 1470 respectively. What is the principal (in Rs)?

T T O T AT ST = 2 A T AT /AT = ST w9 1400 % 54T 1470 % ) wera (7 H) v 87
Options:

1) 8500

2) 7000

3) 6000

4) 6500

Correct Answer: 7000

Candidate Answer: 7000





